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Am I right to say that red words above are feminine?

If this is true then why masculine 13 is used instead of feminine <137

In the above aayah, 13 is a na't of st which is masculine.

So its <. 1s masculine.



In the following aayah, 93 isa & of a> 9:
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In the following aayah, ($3isa & of (.‘J)J ) :
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In the following two aayahs, &3 isa S of slewd) and

B )iﬂ‘ which are feminine words:
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An indication that (639 ¢139 ¢ 9 are a & of the words before them, is
proven by the fact that they follow the <] of the words preceding

them, as a Cad follows its & g

Here the Ca (in red) is & g« because the & ¢o4s (in green) is

U}.,a..o



<z
* “_o
Z
<LA§:'~VQ
15 L
oo
bl -

Here the Caiis y9 5
%G? é.l-:) 6..0‘ .’J)LJ
. g.:J\:} gw\j

&;J\/b ub)i}.l\j

Here the & 1s &}Bf
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